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; 100kN/m%Z#BZ5| 1.00 | 000 ~ 1.73| 126.48 |3mEBZB| — ~ — — — | 100kN/m%Z#Z25 | 1.00 | 1053 ~ 1667 126,48 |3mZE#BZD - ~ - - -
ZznLst 1.00 | 1.73 ~ 9.61 100.00 | =nlsy | 000 ~ 951|236 11.94 ZznLst 1.00 1 6.00 ~ 1053 100.00 | =N | 5.00 ~ 1667 2.36 11.94
2 100kN/m%#8%25%| 1.00 | 0.00 ~ 1.84 128.27 |3m%E#BZB| 0.00 ~ 022|516 15.95 | 100kN/m#i#Bz% | 1.00 | 1281 ~ 2090 12827 |3mEBZD| 2000 ~ 2090 | 3.16 15.95
ZznLst 1.00 | 1.84 ~ 9.62 100.00 | =nlsy | 022 ~ 9.62| 3.00 16.16 ZznLst 1.00 |1 6.00 ~ 1281 100.00 | =nSt | 5,00 ~ 2000 | 3.00 16.16
P 100kN/m%Z#BZ5| 1.00 | 000 ~ 1.33| 120.14 |3mEBZB| — ~ — — — | 100kN/m%#82% | 1.00 | 11.24 ~ 1561 120.14 |3mZE#BA5 - ~ — — —
ZznLst 1.00 | 1.33 ~ 9.11 100.00 | =Sy | 000 ~ 911|259 13.10 ZznLst 1.00 |1 6.00 ~ 1124 100.00 | =N | 6,00 ~ 1561|2569 13.10
4 100kN/m%Z#BZ5| 1.00 | 000 ~ 1.63| 124.96 |3mEBZB| — ~ — — — | 100kN/m%Z#Z25 | 1.00 | 1053 ~ 1615| 124.96 |3mZE#BZ3 -~ - — —
ZznLst 1.00 | 1.63 ~ 9.42 100.00 | =nllsy | 000 ~ 942 2.38 12.01 ZznLst 1.00 1 6.00 ~ 1053 100.00 | =N | 6,00 ~ 1615| 2.38 12.01
5 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%#8 %% — - ~ — — |3mZE#BZ B - ~ — — -
ZznLst 1.00 1 000 ~ 6.18 77.52 | #nLSY | 000 ~ 618 2.00 10.09 ZznLst 1.00 | 5.00 ~ 8.10 77.62 | EnRS | .00 ~ 810|200 10.09
g 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#Z % — - ~ — — |3mZE#BZ 3 - ~ — — -
ZznLst 1.00 1 0.00 ~ 5.59 69.79 | NS | 000 ~ 559 | 1.94 9.80 ZznLst 1.00 | 5.00 ~ 6.70 69.79 | ThS | 5,00 ~ 6.70 | 1.94 9.80
7 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8Z % — - ~ — — |3mZE#BZ 3 - ~ — — -
znLst 1.00 1 0.00 ~ 4.05 50.70 | =hst | 0oo ~ 405|206 10.42 ZznLst 1.00 | 5.00 ~ 5.00 50.70 | =N | 5,00 ~ 5.00 | 2.06 10.42
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZ S ~
Zh LS ~ ZhnLst ~ Zh LS ~ ZnLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZ D ~
Zh LS ~ ZhnLst ~ Zh LS ~ ZnLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZS ~
Zh LS ~ ZnLst ~ Zh LS ~ ZnLst ~
100kN/M%#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ 3ImERZ S ~
Zh LS ~ ZhLst ~ Zh LS ~ ZhLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZS ~
Zh s ~ ZnLst ~ Zh S ~ ZhLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZ S ~
Zh LS ~ ZhLst ~ Zh LS ~ ZhLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZD ~
ZhLs ~ ZhLst ~ Zh LS ~ ZhLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZD ~
zhLst ~ s ~ zhLst ~ s ~
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